UNIT - 3: PLACES IN MY TOWN
Class : IIT
Subject: ENGLISH
Let Us recall
1. Name the picture to your friend.

@ Doctor ’ Postman

L,

2. Circle the things you find in our school.

= EH 5

3. What is this ? Write and show.

This is park

Let Us understand
A. Circle the right word

B. Write the correct letter to match

1. Amutha - Plastic covers
2.Charu - Cloud of trash
3.Jancy - Changed her seat
4. Amma -  Angry at charu

5. Sona - ran off




C. Listen, think and write
1. Why did no one play with charu?
No one played with charu because she had a cloud hanging over her head.
2. Name the things in the trash cloud.
The cloud had orange peels biscuit pockets ,broken toys pencil
shavings,twisted plastic bottles and colourful plastic bags.
3. What did Charu's Ama tell her?
Charu's Amma told her not to litter the trash.
4. How did Charu's cloud become smaller?
Charu's cloud became smaller because she put in dust pin.
5. What will you do to keep places around you clean?
He should not litter in public place.

Let us practice
A. Fill in the blanks with the picture related to public places

B. Circle and fill the correct letter cluster

Prepare

C. Fill in the blanks.

Y R

J

Hair hare fizzy

D. Fill in the blanks
Good bye vinu?




Good bye Aparna. It was nice talking you.

E. Look at the picture and circle the correct action word

play

F. Look at the words and tick(V) the box,if it is an action word or put a
cross(X) if it is not.

1. I read a story every day

2. We opened door

3. The birds sit on the tree

4. They play football in the ground
5. You eat the mango

<X X =

Let us think and do
A. Circle the correct Word

@lide)/ monkey bars @/ sliding swng /
B. Choose the correct word to complete the sentence

1. He loves to play in the park

2. They first play on the Slide

3. They eat snacks like fruits




Big Picture

. Why does he wear helmet?

He wears the helmet to be safe.

. Why does he need the stool?

He needs the stool to take the things cup.
. Why does he run fast?

He runs to catch the bus.

. Why does he put waste in the dust bin?
He pits waste in the dustbin because to keep his lily clean.
. Why does he wear the sweater?

He wears the sweater because of winter.

. Why does the pot leak?

The pot leaks because It has a hole.

. Why does he have the umbrella?

He has the umbrella because of raining.

I Can do
. Tick (V) the correct word

Bus stop| [market] [ park | xo ( bank | [ post office| | schgol | [ library|

. Put tick (V) for the do's and cross(X) for the don'ts.

3,
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4. Write your reply to the teacher.
- Goodbye

' Goodbye teacher b o
1 It was nice seeing you ',
6. Circle the odd word.

a. tear wear pear

b. rare share dare
c. fair hair chair

8. Look at the picture and write identifying the action word.

Jump run sleep Dance
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